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3.

(2x =3y +1)(2x + 3y — 1) & AA5HA?

O 4x?-3y2-1 @ 4x?-9y% -1
(@)4x2—9y2—|—6y—1 @ 4x> +6y2-3y-1

® 4x%>-3y* +6y—1

~&B

(2x-3y+1)(2x+3y—-1)
={2x-(By-1)}{2x+ (3y-1)}
= (2%)% - 3y - 1)?

=4x2— (9% -6y +1)

=4x2 -9 +6y-1




4. (-3x-2)* = d7sA?

@ 3x24+2x+2 @ 3x24+12x+2 @ 9x24+2x+2

@ 9x24+10x+4 (@)9x2+12x+4

(=3x)2 + 2 X (=3x) X (=2) + (-2)? = 9x2 4+ 12x + 4




D (a-b)*=(a+b) @ (a-b)*=(-b-a)

—(a+b)2 — (—a+b)2

(a-b)? = a® - 2ab + b?

(=b - a)? = a® + 2ab + b*

(a+b)? = a®+ 2ab + b?

(=b - a)?® = b? + 2ab + a*

@ —(a+b)? = —(a®+ 2ab + b?)
= —a? - 2ab - b*

(-a+b)? = a® — 2ab + b*

® (b-a)?=b?-2ab+ a*
(-a+b)? = a® — 2ab + b*




6. x+y=4, xy=-2% 0 x?+y* o 32?7

® 5 @ 10 ® 15 @20 ® 25

x> +y? = (x+y)?-2xy
— 4% 2% (-2)
=16+4 =20




7. a-b=-2,ab=4<L M, a®+b* 29 F2?

@ 8 @12 ® -4 @ -7 ® -15

a>+b*=(a-b)?+2ab=(-2)2+2x4=12




x+y=5x>4+y> =13 4 o, xy o] F2?

® -6 @ -12 ® 4

@)6

® 12

~&B

(x +y)? = 2% 4 2xy + y?
25 =13 + 2xy

2xy =12

T xy=26
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1 1
2x2+ﬁ—3x: (x2+§)+(x2—3x),

1 1\2
x2+—2:(x+—) -2=9-2=7,
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24+1=3x,x2-3x=-1,
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10.

x_|_y:3, xy:20é[q1,x4+y49’]%):%?

@ 15 @16 @7 @ 18

P =(x+y)?-2xy=32-2x2=5
Loyt = (P +)°)? - 2(w)? =25 - 2x4 =17




